€ =3.0x10" s
b= 6.626x107 Je

Ne = 6.022)(]0” mol™’

Ry =218 x167"]

m, =911 x107™" kg

R = 0.082 L atm K ' mof”’
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2 C:H:OH + 6 0; = 4 CO: + 6 H:0
b)278 . =XY18g : d2i5g

NaCl. What is the concentration of

{2 0.5 M NaCl solution is mixed with 0.5 L of 1 M

NaCl in the final solution?
3) 0.367 M b) 0.67 M c) 0.55 M d)04M
B What s the chemical formula of Sulfur dioxide
) 80: b) SO: ¢) SO d) SO
B-7 The correct formula of a compound consists of F and Mg is
a) MgF: b) Mg-F ¢) MgF: d) MgF

rbed from hydrogen atom when its electron:
b) jumps from the n=3 state 10 the n=6 state
d) drops from the n=6 state 10 the n=1 state

B-§ A photon with energy 1.80x10° J will be abso
a) drops from the n=6 state 10 the n=3 state
¢) jumps from the n=1 state 10 the n=0 state

tv of a gaseous compound with molar mass of 194.2 g/mol at 373 K and

d)6.26 g/L

B-9 What is the densi

750 torr?
a)3.54 g/lL b) 1.87 gL ¢) 5.9 ¢/L

B-10 200 mL of a gas at 303 K and 710 mmHg is compressed to a volume of 155 mL and the

temperature is raised to 400 K. What is the new pressure of the gas?
a) 1500 mmHg b) 1389 mmHg ¢) 1293 mmHg d) 1209 mmHg

B-11 The metal with the electronic configuration 15°26°2p"3s*3p°3d” is
a) Co b) Fe’ ¢) Mn” d) Cu™

B-12 Caiculate the temperature of 1.0 mole of H: with volume of 1.0L at 30.6 atm?
a)373K b) 273K ¢)300K d) 250K




um constant for the following reactions at defin
450, (g) = 4302_@4-20:(8) X
4NO (g +2 0:(g) = 4NO; (g K;al‘
Whaﬁsthevdue of the equilibrinm constant for the following reaction?
4804 (g) +4NO (g = 450: (2 +4NG: () Ki=27

2 1.0x10° b) 1.0 x10° ¢ 1.0x10° d)1.0x16™*

j n Msmnmeors,nzrc.summe reaction:
' 2NO: (g) = 2N0 (g1 Oz(g)
Find the partial pressure of NO: at equilibrium if NO and O have partial pressures at
equilibrium of 4.0 atm & 3.0 atm respcchvely R
2) 0.4 x10" atm b) 0.9 %10’ atm ¢) (.38 x10' atm 4102 no‘m
|

h -vilue of & for the above reaction;
, b) s less than the value of Kp
d) cannot be caiculated a1 this temperature.

-
&




Nz(g)+33;(g) = 2NHi(g ,&36.25!10"
‘Preﬂictthedlrecﬁoninwhlebthemcﬁonwﬂlpmmdtomcbtbeeqnﬂlbﬂmh:
mixtunon.OMN;,ZOMﬂ;&MMNH;

a) the reaction will proceeds to right b) the reaction will stop A
¢) the system will still be at equilibrium d) the reaction will proceeds 10 left™

Ei 'B-25 The equilibrium reaction:
, 2NOBrig) = 2NO (g)+Bra(gl  AH® = 30 kJ/mol

will be shifted to the left by
) decreasing the pressure b) increasing the volume
1 ¢) removing of NO d) decrezsing the temperature

B-26 The solution that is most basic is the one with:
) pH= 11 b) pOH= 14 ¢)pH=12 d)pOHE= |

B-27 If 100 mL of 1 M HCl is diluted to 250 mlL the pH of the final solution is.
HCl (aq) — H'(agi+ CI (aq)

a)0.2 b) 0.7 ¢)0.4 d) 0.1
B-28 Which compound would be the less basic in 1 M solution

@) NHy (Ke= 1.8x10°) b) NoHe (Ki = 3.0x10%)

¢) CeHeN (Kp=2.0x107) d) C¢H<NH; (Ky = 4.2x107"")

‘B-29 What is the K, for a weak acid if a 3.2 x10” M soluuun of the acid has a pH of 3.6
)20 x 107 b) 5.0 x 10° ) 7.8 x 107 d13.1 x 107

- B-30 The percent ionizalion of a 1.0 x10° M CHyCH;COOH solution which has &
(Ka= 1.8 x10%) is

, 8 CH:CH;COOH & H" + CH.CH.COO "
i34 % b) 7.0% C)4.24% dj 1.90%

g - 3.31 The functional group for alcohol is:
: a) C=0 b) R—O0—R ¢) R—OH d) R—NR.




mpemtumed ‘

ation is § ecipitating)
information can e used 10 judge the solution.

v The mmﬁc name for the foliowing eompound is.CH
oy CHs CHa
Hsc—'ﬁ':C“.g-TBf'
; #ghgom methyl-2-pentene
m‘gmo- 2-dimetnylbutane
K : -fed;mcthyi-"-bmenc




Useful vocabulary

Above question | ! Jipdl | Judge
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Absorbed B | Jump
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Buffer solution - Percent jonization
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Composed of Predict
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Controlling ' Remain unchanged

A3y

Consume Removal
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Converting Respectively

A

Direction Resisting

Drop Saturated
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Emitted Shift

Empirical Solubility
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